Bright's Propane Service P.O. Box 321 Burgin, Kentucky 40310 (859) 748-5382

RECEIVED

JUL 12 2013

PUBLIC SERVICE COMMISSION

July 9, 2013

Kentucky Public Service Commission P.O. Box 615 Frankfort, Kentucky 40602

To Whom It May Concern:

Below please find the quarterly filing for Old Bridge Subdivision for August, September and October 2013.

Rate: .0405 per cubic foot Minimum Monthly Bill: \$16.20

If you have any questions, please do not hesitate to contact me at any time.

Sincerely,

Kathy Caton

Bright's Propane Service.

	•		Gallons		Price/Gallon	Total Cost	Price/MCF (Price/Gal X 27.5)	
1	02/01/13	Beginning Month Inventory:	3,600	20%	0.9819	\$3,534.84	\$27.00	
		Purchases						
		02.13.13	9,321		1.0530	\$9,815.01	\$28,96	
			0		0.0000	\$0.00	\$0.00	
		Total Purchases Total Available Gallons	9,321 12,921		0.0000 1.0332	\$9,815.01 \$13,349.85	\$28.41	
		Gallons Sold For Month	5,361		1.0332	\$5,538.93	\$28.41	
02/29/	02/29/13	Ending Month Inventory	7,560		1.0332	\$7,810.92	\$28.41	
03	03/01/13	Beginning Month Inventory:	7,560	42%	1,0332	\$7,810.92	\$28,41	
		Purchases						
		03.29.13	9,349		1.1461	\$10,714.89	\$31,52	
		Total Purchases	9,349		0,0000 1,5066	\$0.00 \$10,714.89	\$0,00	
		Total Available Gallons	16,909		1.0956	\$18,525.81	\$30.13	
		Gallons Sold For Month	4,809		1.0956	\$5,268.83	\$30.13	
	03/31/13	Ending Month Inventory	12,100		1.0956	\$13,256.98		
04	04/01/13	Beginning Month Inventory:	12,100	67%	1,0956	\$13,256.98	\$30.13	
		Purchases						
			0		0.0000	\$0.00	\$0.00	
		Total Purchases	0		0.0000	\$0.00 \$0.00	\$0.00 \$0.00	
		Total Available Gallons	12,100		1.0956	\$13,256.98	\$30.13	
		Gallons Sold For Month	2,200		1.0956	\$2,410.36	\$30.13	
	04/30/13	Ending Month Inventory	9,900	55%	1.0956	\$10,846.62	\$30.13	
		Total Available Gallons For The Quarter	22,270		1.0806	\$24,064.74	\$29.72	
		Total Gallons Sold For The Quarter	12,370		1.0686	\$13,218.12	\$29.39	
	04/30/13	Ending Quarter Inventory:	9,900	55%	1.0956	\$10,846.62	\$30.13	
			MCF Sold		Cost Of	Expected		
	Cab 42	Gallons Sold	Gallons/27.5		Gas Sold	Gas Cost	Cost Difference	Total Difference
	Feb-13 Mar-13	5,361 4,809	194.95 174.87		\$28.41 \$30.13	\$36.22 \$36.22	(\$7.81) (\$6.09)	\$0.00
	Apr-13	2,200	80.00		\$30,13	\$36.22	(\$6.09)	(\$1,372.10) (\$1,305.60)
			449.82				,	(\$2,677.70)
E	Estimated	12 Month Usage	Usage			Expected Gas C	Cost in MCF	\$30.13
	Sallons		28,193			Actual Adjustme		(\$3.1471)
-	MCF (Gall	ons/27.5)	1,025			Overhead In MC		\$15.00
		Total Cost Difference	\$1,043.18			Gas Cost Adjust	tment in MCF	\$40.50
		Estimated 12 month Sales (MCF)	1,025			Gas Cost Adjust	tment in MCF	\$40.50
	Cost Difference / Estimated 12 Month Sales (MCF) Current Quarter AA					Rate in Cubic Fe		\$0.0405
(\$1.0158			Minimum Bill Fo	or 400 Cubic Feet	\$16.20
		Current Quarter Af (Feb, Mar, Apr)	\$1.0158					
		Prior Quarter AA (/ (Nov, Dec, Jan)	(\$2.5716)					
		2nd Prior Quarter / (Aug, Sept, Oct) 3rd Prior Quarter A (May, June, July)	(\$1.2569) (\$0.3344)					
		Total AA	(\$3.1471)					

RE: Danville Page 1 of 3

RE: Danville

Butler, Jed

Sent: Monday, June 24, 2013 2:00 PM

To: Preston, Heather

LIC 1.05337 cpg

led Butler

AmeriGas | Area Supply Manager

jed.butler@amerigas.com

O 281.552.4001 M 832.405.4001 F 281.552.4909 Y jedburler

13105 Northwest Freeway Suite 500 Houston, TX 77040

From: Preston, Heather

Sent: Monday, June 24, 2013 12:37 PM

To: Butler, Jed Subject: RE: Danville

Jed,

The BOL I have is 940373. It was for 9321 gallons on 2/13/13. I only need the price per gallon.

Heather Preston
Bright's Bottle Gas
(859) 748-5382
Heather.Preston@heritagepropane.com

From: Butler, Jed

Sent: Monday, June 24, 2013 9:31 AM

To: Preston, Heather **Subject:** RE: Danville

What is the bol # that you have? I do not see a customer under the district with the name of Public Service Commission.

Jed Butler

AmeriGas | Area Supply Manager

jed.burler@amerigas.com

O 281.552.4001 | M 832.405.4001 | F 281.552.4909 | Y jedburler

13105 Northwest Freeway | Suite 500 | Houston, TX | 77040

From: Preston, Heather

Sent: Thursday, June 20, 2013 10:49 AM

To: Butler, Jed

Subject: RE: Danville



Receipt Approval

| Service Center Inventory | Receipt Approval | Month End Inventory | Contact Us | Logout

Show orders for the past 150 days. Go

7616 - BRIGHT'S DANVILLE KY 🐰

Submit	Receipt	:/App	rove

Status Schedule Date	Ref#	Destination	Source	Carrier	Ticket #	Ship Date		Gallons Delivered	Price	Dispatch R Confirmed Co	lecelpt Infirmed
T 3/29/2013	1666563	AMERIGAS\BRIGHT'S DANVILLE KY		LTJ TRAN	72222	3/29/2013	9349	9349	1.14611		•

Submit Receipt / Approve

AmeriGas Propane 2012 Release 4.2.7